Chapter 7 Warm-Up Answers
BLM 7–3 Chapter 7 Warm-Up

Section 7.1

1. a) 7   b) 3   c) 9   d) 3   e) 5   f ) 5
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2. a) 
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3. a) 3  x  1, x  I   b) x  1, x  R
c) 2  x  3, x  R   d) x  1

4. a) 0   b) 4 units   c) B and E   d) 
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5. a)  14 °C   b)  45 °C   c)  26 °C   d)  27 °C

Section 7.2

1. a) 6   b) 5   c) 5   d) 18   e) 9
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2. a) 

[image: image16.jpg]-5

—4

-3

-2

-1



b) 

3. a) There is only 1 zero and it is between 0 and 1.

b) domain: {2  x  1, x  R}; 
range: {1  y  1, y  R}
c) y  1
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4. a) 
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b) 
c) 
5. a) 
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b) y  (x  1)2  3 or y  x2  2x  2

Section 7.3
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1. a) 

y-intercept: (0, 1); x-intercept: 
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domain: x  R; range: y  0
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b) 

y-intercept: (0, 1); x-intercept: none; domain: x  R; range: y  1
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c) 
y-intercept: (0, 6); x-intercepts: (2, 0) and (3, 0); domain: x  R; range: y  0
(Ch 7 Warm-Up Answers continued)
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2. a) 
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b) 

3. a) 
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   b) x  3   c) x  3

4. a) x  ± 1   b) x  3, x  2   c) 
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5. a) 
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Section 7.4

1. a) 
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   b) 4   c) 
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2. a) none   b) x  2   c) x  ± 1   d) x  2 and x  1
3. a) x  3 and x  
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 both solutions check

b) x  2 and x  4; both solutions check

c) x  5 and x  1; solution x   5 is extraneous

d) x  1 and x  0; both solutions check

4. a) y  (x  1)2  2 or y  x2  2x  3

b) y  x2  2x  8   c) y  x2  4x  4

5. Let each denominator equal zero and solve the resulting equation. Each solution is a non-permissible value for the rational expression.





















Copyright © 2011, McGraw-Hill Ryerson Limited, ISBN: 978-0-07-073883-6  [image: image12.wmf]
Copyright © 2011, McGraw-Hill Ryerson Limited, ISBN: 978-0-07-073883-6  [image: image13.wmf]

[image: image25.jpg]a0

B

[«

Y




[image: image26.jpg]a0

[«

-

<

N




_1343814102.unknown

_1343819509.unknown

_1359272910.unknown

_1359272911.unknown

_1343819532.unknown

_1343814508.unknown

_1343814531.unknown

_1343814152.unknown

_1342525744.unknown

_1342526411.unknown

_1342522317.unknown

